T

Empd{b Tel: (905) 820-6150 Toll Free: 1-800-363-1588
W Fax: (905) 820-6142 www.techspan.ca
re.

HEAVY DUTY TOGGLES

B g
o 0 Pa 0 0 0 0 A OVA OVA

On Off | SPST 15 10 3/4 Bat Metal 0.465" 0.500" Solder N, KN -13A

35-078 | 35-078-BU 1
35-143 | 35-143-BU 2 On | Off | On | 4PDT 15 10 3/4 Bat Metal 0.465" 0.500" Screw N, FN, Sc I-13B
35-145 | 35-145-BU 2 On Off | 4PST 15 10 3/4 Bat Metal 0.465" 0.500" Screw N, FN, Sc -13B
35-3080 | 35-3080-BU 2 On On | 4PDT 15 10 3/4 Bat Metal 0.465" 0.500" Screw N, FN, Sc -13B
35-3135 | 35-3135-BU 8 ** 110n | Off T 15 10 12 Bat Brass 0.468" 0.500" Screw N, FN, Sc -13C
35-126 | 35-126-BU 4 On Off | DPST 16 8 1 Bat Metal 0.465" 0.500" Screw N, FN 13D
35-3070 | 35-3070-BU 4 On Off | SPST 16 8 1-1/2 Bat Metal 0.465" 0.500" Screw N, Sc -13E
35-139 | 35-139-BU 5 On Off | 3PST 17 12 1-1/2 Bat Metal 0.465" 0.500" Screw N, FN, Sc -13F
35-140 | 35-140-BU 5 On | Off | On | 3PDT 17 12 1-1/2 Bat Metal 0.465" 0.500" Screw N, FN, Sc H13F
35-141 | 35-141-BU 5 On On | 3PDT 17 12 1-1/2 Bat Metal 0.465" 0.500" Screw N, FN, Sc -13F
35-080 | 35-080-BU 6 On Off | SPST 20 10* 3/4 Bat Metal 0.470" 0.500" Screw [N, KN, Sc, ID -13 G
35-110 | 35-110-BU 6 On | Off | On | SPDT 20 10* 3/4 Bat Metal 0.470" 0.500" Screw N, KN, Sc -13H
35-130 | 35-130-BU 6 On On | SPDT 20 10* 3/4 Bat Metal 0.470" 0.500" Screw N, KN, Sc -13H
35-144 | 35-144-BU 7 On On | DPDT 20 10* 1-1/2 Bat Metal 0.465" 0.500" Solder N, KN -131
35-146 | 35-146-BU 6 On On | DPDT 20 10* 1-1/2 Bat Metal 0.470" 0.500" Screw N, KN, Sc 131
35-148 | 35-148-BU 6 On | Off | On | DPDT 20 10* 1-1/2 Bat Metal 0.470" 0.500" Screw N, KN, Sc 131
35-149 | 35-149-BU 7 On | Off | On | DPDT 20 10 3/4 Bat Metal 0.465" 0.500" Solder N, KN 131
35-150 | 35-150-BU 6 | (On)| Off | (On) | DPDT 20 10* 1-1/2 Bat Metal 0.470" 0.500" Screw N, KN, Sc -131
35-151 | 35-151-BU 6 On | Off | (On) | DPDT 20 10* 1-1/2 Bat Metal 0.470" 0.500" Screw N, KN, Sc -131
35-153 | 35-153-BU 8 On | Off | (On) | SPDT 20 10* 3/4 Bat Metal 0.470" 0.500" Screw N, KN, Sc -13H
35-155 | 35-155-BU 8 | (On) Off  (On) SPDT 20 10* 3/4 Bat Brass 0.325" 0.500" Screw N, KN, Sc -13H
35-156 | 35-156-BU 7 On (On) | DPDT 20 10 1-1/2 Bat Brass 0.468" 0.500" QC .250" N, KN -13L
35-185 | 35-185-BU 8 On Off | DPST 20 10* 1-1/2 Bat Metal 0.465" 0.500" QC .250" N, KN -13J
35-3005 | 35-3005-BU 9 On Off | SPST 20 10 3/4 Bat Brass 0.325" 0.500" QC .250" N, KN 13K
35-3010 | 35-3010-BU 9 On On | SPDT 20 10 3/4 Bat Brass 0.325" 0.500" QC .250" N, KN 13K
35-3015 | 35-3015-BU 9 On | Off | On | SPDT 20 10 3/4 Bat Brass 0.325" 0.500" QC .250" N, KN 13K
35-3020 | 35-3020-BU 7 On On | DPDT 20 10* 1-1/2 Bat Brass 0.468" 0.500" QC .250" N, KN 13 L
35-3025 | 35-3025-BU 7 On | Off | On | DPDT 20 10* 1-1/2 Bat Brass 0.468" 0.500" QC .250" N, KN 3L
35-3045 | 35-3045-BU | 10 | On Off | DPST 20 10 3/4 Bat Brass 0.468" 0.500" QC .250" N, KN 13 M
35-3055 | 35-3055-BU 9 off (On) | SPST 20 10 3/4 Bat Brass 0.468" 0.500" QC .250" N, KN 13K
35-3056 | 35-3056-BU 9 On Off | SPST 20 10 3/4 Bat Brass 0.325" 0.500" Solder N.KN 13K
35-3060 | 35-3060-BU 3 On Off | DPST 20 10* 1-1/2 Bat Brass 0.468" 0.500" Screw N, KN, Sc 13N
35-3075 | 35-3075-BU | 11 On Off | DPST 20 10 1-1/2 Bat Brass 0.465" 0.500" Screw N, Sc 13 E
35-3170 | 35-3170-BU | 12 On Off | SPST o o 12 Bat Brass 0.500" 0.438" Screw KN, Sc 130

Notes: (On)/(0ff) = Momentary On/Off ID = ID Plate

*Rated @ 277VAC KN = Knurled Nut

**1&2 0n N = Nut

***Rated 35A @ 6VDC/20A @ 12VDC QC = Quick Connect

FN = Face Nut Sc = Screw

1 = Progressive Two Circuit
Note: All figures are for illustration purpose only, and the number/type of terminals may vary.

All quantities are single; BU’s are packages of 25 Unless otherwise noted.



T

Mpm Tel: (905) 820-6150 Toll Free: 1-800-363-1588
%dww Fax: (905) 820-6142 www.techspan.ca

HEAVY DUTY TOGGLES

— B 35-143 & 35-3080 C

s : - KEYWAY 080- 085 W X
oo e o \1?:“- T (2.03) (2.18)

040- D47
1.02) (118}

carasecEE
1

T

125{3.13] BIA

3009 38

sz anl }

SOLDEA LUS

35-145 is 8 terminals only

u‘amm] “7’ ! R7|
——1 213 o 162 —nf ma[ 985]
0838 10.645) s "
P il el sa?w a1 ?f?rf:%"%? 15/32-32'THD
B 1532 a2
9542 THD -
o § HeslZ2 73] TAS[19.43] =)
- 125 = ¢
762 18¢ f: (076 4 {
Lo 3 5 l-—z.ogama.wol —-l 7.000[26.40] - 35-3075 @‘._‘
i | 1750144451 ] b = .328[21.23]- 35-3070 o
l_ — s Eanl
157|123 o821 57]
S0 rvvers + sccu 270] DIA |__
- . y N 7 67
Z ar2 0 gfa.j eSEuBLED) 2700555 T 46
KEYWAY 1.3 {00724 x 1.010.002) .1 380 038(9.65) (20,8,

MOUNTING HOLE  WITH KEYWAY TERMINAL TYPE

KEVWAY
HEX NUT ASSY ‘o
REVWAY  HEX NUT ASSY KNURL NUT ASSY 7
KHLHL S - f KNURL NUT ASSY s
A e A oo &)
- 1.307
(3319 -
EE'EG? {55

(17.4)

236 e i
- y (5-9}

I: 85 ( 3

(165 3 ! 3

s 4697 1] - 3

! (11.9] = L..m g

| Q. 3 o 3

685 bt E
3 g

E@‘ r%% A e B

224
2Nos-2 UNG {57
-335 Terminals
- - 15
8.5 2-No.6-32 UNC &4 for 35-146, 35-148, 35-150, 35-151

W NuT AT
KNURL SUT IMBULK. T
s

15/30.30UNS-2A -,
THREAD !

6aT[17.44] ‘,' e —

i KEYWAY 25

o (2347

' 0383651 0P

4B5[11.81)
- 560
(18.78)
.778[18.76) “Toas
(2501} Toggle
for 35-3025

N oy

az241072)
r**L

L-!ml:aza—‘ 5g10.08) -

M N vy —
63

1 HFXNUT ASSY 1.062 (16,00}
_OVER. SCR,TERM: 1 KMUNL NUT ASSY (5 (26 975} 5gp

(14,27) 600
(15,24)

460

(11 1),

- b N ] T ses

; ( _ (24,587)

i — L | 205

o o} - 3 (9525) (51,18)
[1az5] \__Mm G.c. TERM. ", Mo 632 UNG

185)
DOWN

\;s:}l[gsm (195

s62

1500232 NS-24

335
@5 Phil\ips S\otted




